
General Intelligence and Reasoning 

:udy the given pattern carefully and select the number that can replace the question 
ark {?) in it. 
6, 4, 4) 
0, 5, 15) 
'2, ?) 
IOTE: Operations should be performed on the whole numbers, without breaking 
>wn the numbers into its constituent digits. E.g. 13 - Operations on 13 such as 
lding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1 
id 3 and then performing mathematical operations on 1 and 3 is not allowed) 

., 1. 2 

X' 2. 8 

X' 3. 6 

X' 4. 4 

I 

Question ID : 26433082466 
Status : Answered 

Chosen Option : 2 

sleet the option that is related to the fifth letter-cluster in the same way as the second 
tter-cluster is related to the first letter-cluster and the fourth letter-cluster is related 
the third letter-cluster. 
G: JCA: :SUN: MOH:: TEK:? 

X' 1. MYE 

X' 2. NXE 

., 3. NYE 

X' 4. NXF 

Question ID: 264330104097 
Status : Answered 

Chosen Option : 3 

sleet the option that represents the letters that, when placed from left to right in the 
ven blanks, will complete the letter series. 
K_J I L_CJ_L_EJ I LKG_I 
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